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i mport java.awt.List;

i mport java.io.Buf feredReader

i mport java.io.|OException

i mport java.io.lnputStreanReader
import java.util.Collections;

i mport java.util.LinkedList;

public class Junp {
public static int pole[];
public static int indexy[];

public static void main(String[] args) throws | OException {

Buf f eredReader in = new Buf f eredReader (new | nput St reanReader (Systemin));

String line ;
bool ean pop = true;

while(!(line = in.readLine()).equal s( )) {

line i n. readLine();

String split[] = line.split( );
pole = new int[split.length];

for (int i =0; i < pole.length; i++) {
pole[i] = Integer.parselnt(split[i]);
}

i ndexy = new int[pole.length];
rekur (0, indexy);

for (int i = indexy.length -1; i > 0; i--) {
if (indexy[i] == 1) {
Systemout.println(i);
br eak;
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public static void rekur(int index, int[] list)

if (index == -1 || list[index] == 1)
return;
list[index] = 1;

for (int i =index +1; i < pole.length; i++)
if (pole[index] + pole[i] == 1 - index & list[i] == 0)
rekur (i, list);

for (int i =index -1; i > 0; i--)

if (pole[index] + pole[i] == Math.abs(index - i) && list[i]

rekur (i, list);

0) {




